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1. Evaluate \/—71:2
2. Find (a) 4 [ arctan(e®)]  (b) 4 [ arcsin(y/z) |.
dx dx
3. Evaluate lim L _ .
z—1t \Inx x—1
. d d
4. Find (a) — log; Va2 — 1. (b) —[z"].
dx dx
V2 2
5. Evaluate / re * dz.
0
x -+ 6 . . . . —1\/
6. Let f(z) = —5 > 2. (a) Find the inverse function of f.  (b) Find (f~")'(3).
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L1 f(w) = 2 + 30 = Lthen (F1)/(=5) = ¢
2. Evaluat /2 L d T
. Evaluate ———dr = —
0 372 — 2x + 2 2
3. If f(x) = e " Inx, then the slope of the tangent line at (1, 0) is e !
2 7
4. Evaluate / 2%dr = —
-1 In4
5. Evaluate lim z+ — 1
T—00
) 1
6. Evaluate lim —
T—00 x
) 3 3
7. Evaluate sin | arctan — -
1) " 5.
. 1 1(. 1
8. Ifarcsin(3x — 7) = 5+ thenz = 3 s1n(§) +7




9. The area of the region bounded by the graph of f(:n) = , the x-axis, and the lines
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1 —V4—ﬁ+@gw%gy+c 5.8 — H]4L 3
e 1
2 —— b)) ——— 7 — )48 4-c, ¥ 42 45
(a) 1+ e2e ( )Qm 5.7 bR 4-c, ¥ A2
1
3] 3 5.6 — GIAE 7
xXr
4 - b) z*(1 1 D — % & 53, ) 4E 5-d
@) Ggaz—y @ e+ ) 5.5 — 4 4 53, 14T
5 | —e 41 5.4 — % 4T 114
2 2
6 (@x::;jfoupzfjf, (b) —2 5.3 — % 47 69
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